[image: image1.jpg]VL

; E gt alead Oire
cventas E9q

6 2.5
77_4’\‘—‘*‘1»\__——4‘

\ \

|

\ % oz

L 0)js0+ 23

i. =0 A (w,mu o f i

Y
ben cicewit)s

i, =49 A

acound  mesh £ o — 60 +/0(L=H)F FOE




[image: image2.jpg]e = ¥ , = 32t qoxz = 2V =V
4{‘% , et all fn(/,(/.gnJ,“J B S
e .
D S il
losc
(
[ F oz
‘ [ b Req=Ren
1 1
e
sz
7019 _g+8& =/6
s 7 g = IZL=#% =
”‘H: fﬁ// Y0 +# d

kel at

1S ey = 500) + 0V, 24(V, Vs )



[image: image3.jpg]V,-Soe
t—— _ /0 =,
20
30( V,=V,) v S-2(V,- s00) — /560 =0

— 80V, + 35 2= /60
z

o, = (Few, -Togen @

to  ZRn0 =p
30 S+
\—::L PP, ol O s d 12 7 F
| g5t | o /Dpfa/lul
4 &
> /252
. | b
° Rt Exiz _y gs2
‘ b G +i2
W 3052 30 5%
[ a /0 sz “
48 g2 = T
-2



[image: image4.jpg]9. 64
)

[~ T
Voo = x V, = /;/r?:f\/:/{k



[image: image5.jpg]


[image: image6.jpg]A



[image: image7.jpg]¢ 66

—

Model the bakery 4%

o Thevearn wodled

” _ ea

"=

71, "—l’.
%) Vo = =
L. [

6
Theo wse e Given informadion T2 fnd

\/-kb\ '7 Q% (5

& Radio  connectzd

BV Head finht comnecTecl

- 0.6 = 04l
2= LV, = 12 Py # T2 /ot ©
0, + 06
#e ——
B i R =4omsz
s \(/;\ = /2. 8V f
Lo mation fo Sl Noctan
Via /2. %

- e o =3204 R -omsz .
Rew “0xt07% 7




[image: image8.jpg]~
S
Y

&

o

G —nnn—
(LU Gy-rn, S PRI KRy —a
10k 52 -
o < 4ok F9k s y
L Vae
b

ECL et mod 4, 2, and 5 =
VoL L -y,

/5K /0k _ =

P
R te

crrenlt  methedand solwe 1£'w (oo walag

mesh «wafjjt_r

A [Levnatively , You can

Souveces 4o Beao

Sowr co, 0



[image: image9.jpg]. ; 19 ¢
el [

I aorasi, +I, <22:97644, R o
22,4 4

-
= 4449 ks




